2 QP Code: 12153

(a) Find the closed loop transfer function of the system shown below 10
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(b) Explain the difference between mi.nimum and non-minimum phaée transfer 10
functions. '
(a) Sketch the Bode plot for transfer function’ 10
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and comment on stability.
(b) Sketch the root locus from the open loop transfer function given below and 10
determine stability.
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(a) Using Routh - Hurwitz criteria find the stablhty of the characteristic equation. 10
585+ 355 + IOS“ + 953 + 2357 + 125 + 100 = 00.
555432 + 105t 1 453,955 +;15+1oo =)
(b) Write note on stepper motor. 10
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